@ TERASAK

Innovators in Protection Technology

EmEEGRN— I EEE
Rear connection Flat bar
Instruction Manual

TemBreak

M=t (Types): T2RP40, T2RP46

AZE(X, TemBreak2? ') —X(ZEMEEHH/N
—EMT A EEERBLTVET,

This document has described the procedure which
attaches stud unitin Tem Break?2 series.

AERF, CHERAICHZFDEFATARURET SV, RECTEOLLERK
L, RUBRSERRWC & YELREBFICELT, BHEEEZAVERA,
Please retain this manual for future reference. The Manufacturer assumes no responsibility for
damages resulting from non-application or incorrect application of the instructions provided herein.

= e = —~—
FIFSBSTEF AR\ TSAl
T547-0002 O KRTTFEFEMER 7-2-10
EEE:06(6791) 9320
77 v X:06(6791)9274
R—LR— : www.terasaki.co.jp
E A —)JL : kiki-info@terasaki.co.jp

2G0468SAB (KRB-0445b)

TERASAKI ELECTRIC CO,, LTD.

7-2-10 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL:81-6-6791-9323/ FAX:81-6-6791-9274
Web Site: www.terasaki.co.jp

Email: int-sales@terasaki.co.jp

(& FRErT s X ERHR S Applicable Breaker Types/ Packaged Iltems

EEERA/N—

T AR A s =X iw Rear connecction Flat bar
Applicable Breaker Types Poles st GLEES
T/ o5 Items
MCCB ELCB P A[B|[C[D
E400, S400, 3 T2RP403S | 4 | 2 | 6 | -
ZAE400, ZAS400 ZEA400, 25400 4 | TORPAOAS (4 |4 8-
E630-NE, S630-CE, 3 T2RP463S [ 4 |2 | - | 6
S630-GE, S630-NN 4 T2RP464S [ 4 | 4 | - | 8

A B
P g
C:M10x20 D: M8 x 25

2 HEEB3T R Assembly tools

BIRLEDITEE Safety Notice

BT, R, & AR, BTAELZOMONEEEESHAES
BEOME, REOER RUIBEFEOLTIIBTRLTHSBIRVTEL,
AETE, REIBFENSVV% TORKI, TAEE) RS LTLET,
CEIRVEBESBAIC, BRARRARIYAT, RUELEEGER

(T B AEEAEE SN BBE,

CBRLNEB- BRI, BRARIAEIY AT, DEENGEOEE
£2+5TERISEE SN I BERUVHMBEZSOHPEESNSBE,

B, TAZE] CRHELEBETE, KRSE> TREAGHRICHEUDL

AEMSHYET. WThEEELRABRTTOT, BTFoTFELY,

Be sure to read these Instructions and other associated documents accompanying the product

thoroughly to be familiarize yourself with the product handling, safety information, and all other

precautions before mounting, using, servicing, or inspecting the product. In these Instructions,

safety notices are divided into \@Warning\and \ &Caution\aceording to the hazard level:

: Awarning notice with this symbol indicates that neglecting the suggested procedure
or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested procedure or
practice could result in moderate or slight personal injury and/or property damage.

Note that failing to observe notices could result in serious injury/damage in some situations.

Because safety notices contain important information, be sure to read and observe them.

OfERR Warning
BWERALEDZEE Operation Precautions
ORBWHFRICANGZNTTIV, BREDOSZTALHYET,
Never touch live terminals. Doing so may result in electric shock.

ANEE Caution
WMiELT ED Z3EE  Installation Precautions

OERITHIFT, FERE (BRIFL) MToTTEL,
Installation work must be performed by competent persons.

OEX1E, EEEEBFFEY] (OFF) 2L, TERRUHIHERAFEL
TWEWI EEHERLTIToTTFEL, BREDETALHYET,
Prior to commencing any work on the product, open an upstream circuit breaker or the
like to isolate all sources of power/voltage. Doing so may result in electric shock.

OEEIEMA/N—EEMBOMAEZENVICLTTEL, FhiKET
DEATITHIE, KKDFERELY ET,
Clean the rear conection stud bar mounting surface (contact surface with the breaker
terminals). Otherwise, a fire may result.

AGEE Caution
WMiET ED Z3EE  Installation Precautions

OEEERA/N—F, TOIMMEAENBFOIRGEICL >AY LT S
;;ﬁl:%i&hfﬁ Lt FTTF L, BRTRE KKORRELY
Insert the Rear connection Flat bar to the full depth until the mounting surface comes into
contact with the breaker terminals, and tighten it with the stud fixing screws. Otherwise, a
fire may result.

OEMEME/N—FR L, RUHFALIE EEH MUY TREICHEE
BT T TT S, WFTTRBERKDEETALAHYES,

Tighten the Rear connection Flat bar fixing screws and the terminal screws to the torque
specified in this manual. Otherwise, a fire may result.

@i T4 L Ot (TR R U SRR, BEERA/N\—ICEBEZ O MD 5%
WESITLTTFEL, EEERAN—~ADBXREGAIE, KXOEZHL
NHYVES,

Even when tightening the terminal screws and after conductor connection, do not apply
excessive force to the Rear connection Flat bar. Otherwise, a fire may result.

OiEmERE, BEERICHL TRELBHNNRET 518, TROM
ETHEE (R LTFEL,

Each connected conductor must be supported at a distance M. See following table.

REEGA —RE o 15 90°
Rear connrcted Flat bar arrengement ’

E & J Distance J J=350mm J=200mm

OmfFIFon-EMBZINT & Z(E, EEEGRAN\—EAERLCERED

%é%LtULEufTéMQE%EH%LTﬁ%,ﬁ%%%ﬂ%bf
Ly,
When removing the installed breaker, loosen the terminal screws without loosing the Rear
connection Flat bar fixing screws.
WERLDTFEE Operation Precautions

OEFHIEMBA LY v T GEN) LI5S REEZIRYKRLNTHD
A (ON) BELTTFEL, XKKOBEALHYET,
When the breaker trips open automatically, remove the cause; then close the breaker.
Otherwise, a fire may result.

BWRSF - MR LD TEE Maintenance Precautions

OR T - RiRlE, EFMBEERT HALITHOTTELY,
Service and/or inspection of the product must be done by persons having expert
knowledge.

OR5F - miklE, EEDEMEEY) (OFF) ISL, REELTLVAWI L &R
BLTITL2TTFEWL, BREOEENLHYET,
Before service or inspection of this product, please ensure that no voltage is present on
the breaker supply side. Any device upstream of this breaker should be suitably isolated
otherwise electric shock may result.

O=EEHAN—EERQL, RUmTFRLIF, EHHICEEMT LI T
BLHBDOLTTIL, BH#F, KKOFRREGZYVET,
Regularly check that the Rear connection Flat bar fixing screws and the terminal screws
are tightened to torque values shown within this manual, failure to do so may resultin
fire.

”




()RR A/\—HTZ4E Rear connection Flat bar Mounting Procedure
EEERAN—IE, RERERFICIMATTTFSL,

Attach Rear connection Flat bar in front connected breaker.

(DB E DELS L Removal of E

3P:6pcs
4P:8pcs

ERtHRROSE, #&E [FHAERT
WEEA, ODFIEZEEL, QITEA
TTFEL,

D~ BCEIRTE Arangement set
&% Cleaning
@ #EA Insert

1 HEMRFESE Check contact state
@ #E4$1F Tightening

CorD

™

AR, T#EF forRand T phases

B:S, N#§F forSand N phases

c M10 x 20
\ © 186~29.4N-m
M8 X 25
© 88~147N-m
ElREFEHREE Emk
Conductor Connection Procedure for Rear Connected Type
®~@® EB& G DELSL L Removal of G
L) J ave= — -
b H M12
“BUH BEECAETSL, L
2G0468SAB (KRB-0445b) | - The 'H' screws and the conductors are not supplied.
GIXRFmHESE REk OYR- A ESE BEEil
Breaker Mounting Procedure for Rear Connected Type Support Mounting Procedure for Rear Connected Type
g [
—
HR—
Support
el J L
BRELIFTTRN—
Cable or Bus bar
mE=SNRWEE
BTICBEAEHTAGN SO ESETEL, e
For mounting dimensions, refer to catalogue. = e
AN i o SEEGAN—EE o o qn°
FRLGERBEORBEGEERLTT S, Rear connection Flat bar arrengement 0 457,90
Use packaged screws of breaker. ERE & J Distance J J=350mm J=200mm

M6 x 100
6.0~74N-m

- HiR— ML TAET S, The supports are not supplied.




